normalized X?

[ normalized x? probability |

Entries

396738

393622
0.5257
0.31

Prob(x?)

107}
107 R~
E =
sl Mean
10°E Std Dev
107F
10°F
lgmce:.ﬁ..i...i...i...i...i... o s
TR JPN . T 1.05]
= [ o ox
YT IN N
N 0.95 B .
P 09 PSSR
16 18 20 0 0102030405060.70809 1
X2
== DQMstep3_TT_CKF
e DQMstep3_TT_default
wmm— DQMstep3_TT_defaultNEWT3
<)
T
x
A5 A n
2 45 2 1.8F-
5 4 %< 1.6F-
Y v F
3.5 1.4F-
3| 1.2F
2.5 -
2 0.8F-
1.5] 0.6F
0.4F
0.5 0.2F
o 0 o O
8 12 S
1.1 0.5
i 0
107t 107 1072

-1
AR(track, jeltS)



	Contents
	Page 1


